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Note : This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9½) marks each. Learners
are required to answer any Two (02) questions only.

(2×9½=19)
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1. Explain valence bond theory. Predict the hybridization of
[CoF6]3– and [Fe(H2O)6]3+ ions.
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2. What are the lanthanides elements ? Why they are called
inner transition elements? Discuss the main characteristics
of the lanthanides elements.
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3. What is IUPAC nomenclature system of the coordination
compounds? Discuss it briefly with the help of suitable
examples.

�&���	���
-����	��	 IUPAC	��&����	'(�����	!��	"�#	$'�)!�
$.�"������	 ��	 �"����	 ��	 ����	 ��/��'	 &��	 
���,��	 ��
���

4. Write short note on the following :

(a) What are chelates? Discuss the factors which affect
stability of chelates.

(b) [Ni(CN)4]2– is square planner where as [NiCL4]2– is
tetrahedral.
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5. What do you mean by isomerism? Explain structural
isomerism in detail with suitable examples.
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Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only. (4×4=16)
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1. Write a short note on the paramagnetism shown by d-block
elements.
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2. Describe the any two methods of separation of lanthanides.
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3. Write the name and electronic configuration of the 4-d and
5-d transition elements.
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4. Write short note on any two :
(a) Lux-flood solvent concept of acid and bases.
(b) Frost diagram.
(c) Bronsted Lowry acid base concept .
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5. Write the electronic configuration of the actinide elements.
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6. Attempt the any two :
(a) Electrochemical series.
(b) Levelling Effect.
(c) Neutralization reaction.
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7. What are similarities and differences between lanthenides
and actinides?
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8. What is the monodentate, bidentate tridentate and tetradentate
ligand ? Explain with the appropriate example.
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